
[image: image1.jpg]1. What are the chances of having pink offspring ? ol
2. What are the chances of ha‘l/ing red offspring ? g

3. What are the chances of having white offspring ? ) g

4. What is the genotypic ratio ?

5. What is the phenotypic ratio ?

6. A farmer wants to mate two roans together. What are the genotypes of the these animals
X

7. What would be the gametes for the male parent ?

8. What would be the gametes for the female parent ?

9. Work out the Punnett square in the space below and answer the following questions.

10. What are the chances of having red offspring ?
SRR S S

11. What are the chances of having white offspring ?
e
TR S

s offeading being yoil
14. What is the phenotypic ratio ?

12. What are the chances of having roans ?

13. What is the genotypic ratio ?
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The Punnett Square:

Iherneusquamisachmusedbygeneﬁcists,mhclpdmnnine!hechmofm

offspring recelvmg a particular characteristiz, The Punnett square will not tell you how

:mg;oﬂ'xpnng will develop, or the order in which they will be born, B = brown hair and
= blonde hair.

Example:
Brown hair.

~==--=-Bb X Bb ~—— Parents that are heterozygous for

Gamietes: e Bandb; B and b--——-Each parent produces 2 gametes.
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The Punnett Square:

Iherneusquamisachmusedbygeneﬁcists,mhclpdmnnine!hechmofm

offspring recelvmg a particular characteristiz, The Punnett square will not tell you how

:mg;oﬂ'xpnng will develop, or the order in which they will be born, B = brown hair and
= blonde hair.

Example:
Brown hair.

~==--=-Bb X Bb ~—— Parents that are heterozygous for

Gamietes: e Bandb; B and b--——-Each parent produces 2 gametes.
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18. What is the dominant gene?

19. Is there a heterozygous straight haired offspring? . Why?

20. If yellow pods are dominant to green pods, what letters will we use to show these
genes?

21. If a heterozygous yellow male is crossed with another heterozygous yellow female,
what would there genotypes look like using the letters in question 20 ?
X "

22. What would be the gametes for the male parent?
23. What would be the gametes for the female parent?

24. Work out the Punnett square in the space below and answer the following questions.

25. What are the chances of the offspring being homozygous green?
26. What are the chances of the offspring being yellow?
27. What are the chances of the offspring being heterozygous yellow?

28. What is the genotypic ratio?

29. What is the phenotypic ratio?

30. What is the dominant gene?

ll.hthemaheterozygousgreenoﬁspﬁng?f . Why?





